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NCC #3 cof 59685 50,685 50.685| <« DX It
ﬂ)l\_} i%al #1 rET it -;_'-;_'""11 &
s | Y5702 (10) 0 A2
LA T
eI T 2}
<2 M £
L TET
BTX #1 <</tEHEH7
Ly BTX #2 {{,:%::gﬁ
P 5
maros X EEs
B : =aa
SM #1 <</t EET
GF(Z|ER) S
0L X| A OK oK
23Xt o 0
HEA 5 L4
2016 2017 2018
57.51528
* NCC net(H| 28 4H2) BHE A|, AH|ZF0| A8l Loss 2 et H|O|E BHY

A8 4H|E
AEIAH 2 242t 3-YH
AEIAH|ZF HO|E 3
AH| 2 OO|H = A8 Loss
2= Zotok 4|0|H HHY
HHEA =2 42, AT ML
Sourcel| Atk HiEAH+E
t5HAs GO HE




2. BM H|O|E] Z=At®E /g

<1.

Balance sheet>

n = grx = o il = =|
M dit/aH| 213 BalanceS S OF ofH, TH Loss &S 24 SEE HHAESHE 7|[E22 HiZ
2016 2017 2018 e AaE
Hi &A=
ERTLES
HY=H| == HH = H| =~ Hi = A== A S bl -
MWh =A== | Mwh HEAs | Mwh =A== = = BM ZA 0| 225t= MIMAL
GTG #1 (200,000 046625 046625 046625 | << 2 HZ¢ SourceOf| CH3H U=
o
crc#2 | ooooo)| osss25 0.46625 046625 | << HEt = MEHWLMEOl FR, (-) HOo[H=
ol
GTG #3 (100,000)] 046625 046625 046625 | << 2 FZ 2
A K| B2EO L0
A A} = (100,000 046625 0.46625 046625 | << D FzZ¢ - =7 S = HA 4*10 Hiole = =0l
AH A AW ALO| Z
gte= 046625 0.46625 046625 | << FZt = NCC ‘89| B2, NCC net
A= (A H|Zk-AfAMEE) QIS
Ty 0.46625 046625 046625 | << 2 Ft ;ﬁ*ﬁlfo o 1_;7;'
L] |
046625 046625 046625 | << 2 Fzt = ol o
Hi = A <=Q1 0.44625 X8
0.46625 046625 046625 | << 2 Fzt
046625 046625 046625 | << A Fzt ST
BTX #1 50,000 | 046625 0.46625 046625 | << 2 &zt e AH|Y
Ay BTX #2 20,000 | 046625 046625 046625 | << 2 Fzt
(jzroz |_EX ¥ 30,000 | 046625 0.46625 046625 | << 2 FZ! » MEAHE2 2H2E 2-Y
- F
oy BD #1 10,000 046625 046625 046625 <<_af§,fg: M2 AH|2F Oo|E ¢
- e
SM #1 10000 | 046625 046625 046625 | << 2 F ! « AH[ZEOO|HS M3 Loss
GF(Z|Eh A80,000 | 048825 046625 046625 | << T E T Eok % EE"@' E”O|E‘| H.J'%'
EREEES =
amme X oK X - HEASO B2, AR WM
Sourcel| ‘M HIZAT+E
Jtsgdct ol H&




<2. MM Hi=E>

2. BM H|O|E] Z=At®E /g

Kl

At HiSAE2| H

(

| =f || |lw|wm|w | S |wy | rd
LU I o o o O I Y o N e O i O e Y i
N e e Ll Rl RN R

—f | ¥ T T L Ll (N}

E_ 1 LI |

[ |

0

L)

=,

ur

(=]

[

e joll
o = = T
— oo | e ] e | e w = o
= oo o=
i NNNW_nIu_nIu_nIuESW M;m.@m_@
T3 n o] o T
il
70
L Lo L T T e TN N e
e R R RN RN EC RN B RU B

=| w TDT|T|T|TD|T|(T|(T|(T|(T|T

| (A

O | F === == === = =

ol | gy |30|30|20|20|%0 |20 |20|20|20|%0

| & I |DF|DF (DF (DF | DF | OF (DF (3F | 0F

Z| m |[T|FT|ITITIFTIFTITITITT

| 2

&

7 B0

i |

= =~

o =<

Ly (g1 st

_.M.HME ﬁ#ﬂaﬁﬂﬂﬁﬁw

al T 8|88 x|xxlalzs|R

m| ® (Z|F|F | M o|oloa|ho

BB == = = (oo | oo | oo oo (oo | oo

o lxm | i |y | e | b | b | b | b | b

| =0 R =0l =0l =0 e e e e e g ey

W 0 |0 | @0 | @0 |imo |@o | oo | oo |mo | @o

H MR AR AR A R R R A R R BN B 2l

(] ﬂ.l,. =<

n BB|EB|E 28 8(8|5 T 20
o] |TF [TF TF (TE (TE | = || & || rE
< | | [ | [ < | | =< | [ << P




2. BM 0| O]

B ZAr® 748

<2. BMAM

o AT HIEA|MLO| HIZE 2 022 AFAR MAM| HIST TS I E BN S

HY = 2F>

ol
=

BM CiefAl 2 ®E BMAH S HEEE AE2 0]7|7) 20164
e KA S BMIAE MST AZYY | AoNg [ =S
(EH= 3%2]) (tCO2e)

£7011 T dH-NCC L& Sk H =5 NCC -93,250
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271014 k=i sl & Sob 4H =5 GF(Z|ER) -46,625
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77017 [HHALE-BTX #3 L& A 2 2 BTX 13,968
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BD EtO|H[0|E 1, 22} Mixed C4 & Input Feed& ton 10,000
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3,800,000 79.17% 158,333 3,958,333
BTX 250,000 5.21% 10,417 260,417
BD 100,000 2.08% 4,167 104,167
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GF(ZIEh 600,000 12.50% 25,000 625,000
& AR AR
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Helst i 2 BTX AHAd|20| 22|=HD US

1 2AL - - [BD AEAH|2F]

e T BD 28 AEAd|2F AE | ogs HHiE
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